	
	Algebra II 







     Name: _____________________

Unit 3 Study Team Test





     Date: ____________ Period: ___
Show all your work and reasoning.  Use pencil and highlight your answers.

	
	1.  Investigate the function 
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x–intercept: ______________

y–intercept: _____________

range: ______________

domain: _____________

horizontal asymptote: ______

vertical asymptote(s): ________
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	2.  Nancy invests $2500 into an account earning 
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 annual interest compounded monthly.  How much money will she have after 9 years?


	
	3.  If 
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	a)   
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	b)  
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	c)  What value(s) of x will make 
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	4.  Solve for the variables.  Give the exact and approximate answers.

	
	a)   
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	b)   
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	c)   
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	d)  
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	e)  
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	5.  Simplify each expression.  Write your simplified answer in terms of positive exponents.

	
	a)  
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	c)  
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	6.  Find the annual rate of growth (interest rate) on an account that had $150 in 1983 and $540.53 in 2005.




	
	8.  A sequence begins with 
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	a)  If the sequence is arithmetic, 

(i)  What is the rule t(n)? ________________

(ii) Is 496 an output?  Explain.


	b)  If the sequence is geometric, 

(i) What is the rule t(n)? _______________

(ii) Is 88,574 an output?  Explain.



	
	8.  In a lab, a 32 gram sample of a radioactive substance decays at an hourly rate of 17% when exposed to the air.

	
	a)  Write the rule A(t) that will represent the number of grams present after t hours.


	b)  How much will be left in 8 hours?                          


	c)  What is the half-life of this substance? (Round to the nearest tenth.)
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9.  Investigate 
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x–int: ______________

y–int: ______________

Domain: ___________

Range: _____________

Asymptote: _________

	
	10.  Factor completely.

	
	a)  2x2 – 11x – 21


	b)  –40x5 – 56x3
	c)  400x3 – 289xy2
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